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matlab

R=50;

RS=R; CHZS &
RL=R;

BW3=1E6;

kesai=sqrt(2)/2;

L1=sqrt(2)*R/2/pi/BW3; W& B B A 3t
Cl=sqrt(2)/2/pi/BW3/R;

kesai=sqrt(3)/2;
Z02=(sqrt(6)+sqrt(2))/2*R;
Z03=(sqrt(6)-sqrt(2))/2*R;

w3=BW3/(sqrt(-2*kesai*2+1+sqrt((2*kesai*2-1)*2+1))*sqrt(2)/2/pi);
C2=1/(202*w3);

12=202/ws3; BEAE B B RSP BT
C3=1/(203*w3); 7T sk 7 ML
32203 /w3, FEAE I B NP T2

SR T 5 RGER WK T TR 2020 K32
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freqstep=10~(log10(freqstop/fregstart)/freqnum);
S

freq=freqstart/freqstep;

fregstart=1E4;
freqstop=1ES;

freqnum=1000; %%ﬁ&-&ﬁ

RS
for k=1:freqnum +> Vs S
freq=freq*freqstep;
f(k)=freq;
w=2*pi*freq;
s=i*w;

ABCD=[1 RS+s*L1; 0 1]*[1 0; s*C1+1/RL 1]; /ﬁ%%g%ﬁ %i‘l‘ﬁ

H1=2*sqrt(RS/RL)*1/ABCD(1,1);
absH1(k)=abs(H1); =8I 2
angleH1(k)=angle(H1)/pi*180; rI]EEl'/J\q%‘: ri
FH AR YR |
if k>1

tgH1(k)=-(angleH1(k)-angleH1(k-1))/180*pi/(2*pi*(f(k)-f(k-1)));
end T SE B A
ABCD=[1 RS+s*L2; 0 1]*[1 0; s*C2+1/RL 1];

H2=2*sqrt(RS/RL)*1/ABCD(1,1);
absH2(k)=abs(H2);

angleH2(k)=angle(H2)/pi*180; %::Fﬁ Bﬂ‘ % j:slz: j:ﬂ .‘[/ﬁ_i/_l_ 1

ifk>1
tgH2(k)=-(angleH2(k)-angleH2(k-1))/180*pi/(2*pi*(f(k)-f(k-1)));
end

ABCD=[1 RS+s*L3; 0 1]*[1 0; s*C3+1/RL 1];

H3=2*sqrt(RS/RL)*1/ABCD(1,1);

absH3(k)=abs(H3); \ E' N N
angleH3(k)=angle(H3)/pi*180; gqé QEE Hﬂ‘ W ﬁ ) I/. iE -&_L_I_‘Z
ifk>1

tgH3(k)=-(angleH3(k)-angleH3(k-1))/180*pi/(2*pi*(f(k)-f(k-1)));
end

% [ A0 sl 5 SR TR0 T IRA 20204
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Matlab/E &% 4

tgH1(1)=tgH1(2); 107}

tgH2(1)=tgH2(2); FERERT T : Zo1HE, S

tgH3(1)=tgH3(2);

107}
figure(1)
hold on
plot(f,absH1,'b") R : li 10° ‘
plot(f,absH2,'r") [I]EH /J\q% r 10" 10°

plot(f,absH3,'k")

AEIE I O P v i 258 8 i

figure(2) | |
hold on ,
plot(f,angleH1,'b") ﬁﬁ H?J‘q% TEE
plot(f,angleH2,'r') FH AR P4 107 | ]
plot(f,angleH3,'k")
-8

figure(3) 10" |
hold on
plot(f,tgH1,'b") \ ) 10° |
plot(f,tgH2,'r') ﬁﬁ ETJ‘CI% TEE
plot(f,tgH3,'k") B

10 "+

107"

B U e 7
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RS=50; %15 i N [FH 50Kk 4kt
f3dB=1E6; %3dBi % N1MHz

kesai=[0.1 sqrt(3)/2 10]; %—7FPHJE REIE I

Dt=1E-9;
timenum=20000;
fO=f3dB/5; 77 5% I F A0 2R A F0 figure(1)
wO0=2%*pi*f0; TRITEBISIRIER 7 EHIAL T8 Z A hold on
T=1/f0; LA N B A5 S R plot(t,vs1,'k’)
for j=1:timenum
t(j)=(j-1000)*Dt; figure(2)
if <1000 hold on
vs1(j)=0; plot(t,vs2,'k")
vs2(j)=0; plot(t,vs2n,'b")
else i, 1 DB 5 T R 2

vs2(j)=0.5+2/pi*cos(w0*(t(j)-0.3*T))-2/3/pi*cos(3*wO*(t(j)-
0.3*T))+2/5/pi*cos(5*wO0*(t(j)-0.3*T));
B F2NBAE SRR BENIN IS TR EL M R IT R4
vs2n(j)=vs2(j)+0.3*sin(50*wO0*t(j)+0.5*randn)+0.6*sin(52*wO*t(
j)+0.5*randn)+0.3*sin(54*w0*t(j)+0.5*randn)+0.5*randn;

B A AN TS 5+ = T84 10153dBI A AL E R =
+iE AL 7=

end
end



for k=1:3

%5 CRLCEX (H EATHAE: HRIE3dBH %
L(k)=RS*sqrt(-2*kesai(k)*2+1+sqrt((1- FHB 2% EIFE A&
2*kesai(k)"2)22+1))/(2*kesai(k)*2*pi*f3dB); SRR, RN

C(k)=2*kesai(k)*sqrt(-2*kesai(k)*2+1+sqrt((1-
2*kesai(k)*2)72+1))/(RS*2*pi*f3dB);

RCD=Dt/C(k); g2 ECYs) 2
SLD-DU/L: o RS\/ 282 + 1+ /(=282 +1)2+1

28 w3qp
A=[1 -RCD; GLD 1+GLD*RS);
invA=inv(A);

25\/—252 +1+,/(-282+1)2+1
C =

Rsw3gp

o I P I (B P Y

FEM B RS RG] HHERFHET LIER 20205 K71 20



J&i TR BR L

— AV dv
I @ lL=lC=C_C ﬂ:l

l
vS=vR+vL+vC=iLRS+Ld_;+vC

dt dt _ct

di, 1 1 R

® qat LT LeT Tt
0 I o d
a4 [vc(t) _ c [Uc(t) (D) 2 X(0) = £(x(®), ©)
delig(®)] | 1 Rslliy(®) > ‘
L ’Ij(;{&ﬁﬂ%?z X(tk+1) - x(tk)
] { - L+1
— 0 = f(x(t), t)dt
ve(tr+1)] _ [ve()] _ 0 C |[ve(te+1) 1 j (6, £)
i (tes1) - i (ty) ~ 1 Relli;(trsq) Tz Vs(tir1) | AL 2%
A L ~ F(x(Crs1) tresr)AL
(ty, trr1) X TR AR ) J& 1A Rz i
At
] — C [vC (tk+1)] [vC (tk) (t )
At AtRg| JLip (t41) lL(tk) Voltkr1
Lok i AR S 2 R
FEM BT HEE S RS R IEHERFHT TR 2020 K=+ 1] 21



%I L, B BRI B
vC(1)=0;
iL(1)=0;

x=[vC(1);iL(1)];

for j=2:timenum
x=invA*(x+[0; GLD*vs1(j)]);
vC(j)=x(1);
iL(j)=x(2);

end

figure(1)
hold on
plot(t,vC)

B BRIUmh = A T B R i

% Il P2 I R
vC(1)=0;
iL(1)=0;

x=[vC(1);iL(1)];

for j=2:timenum
x=invA*(x+[0; GLD*vs2n(j)]);
vC(j)=x(1);
iL(j)=x(2);

end

figure(5+k)
hold on
plot(t,vs2,'k’)
plot(t,vC,'b')

[vc(tk+1)] _ [ 1 —R¢a vC(tk)] +[ 0 ]v (trer)
i (tk+1) Gra 1+ GpaRs i (ty) Gpal SN+
ZEM HFHEES KRG A HHERFH T TR 2020/ 251

WG FHBRAE, IEEATN SRR A= JEER
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%I
fregstart=f3dB/100;
freqstop=f3dB*10000;
freqnum=10000;

freqstep=10~(log10(fregstop/freqstart)/(freqnum-1));

freq=freqstart/freqstep;

taog(1)=0;

for j=1:freqnum
freq=freg™freqstep;
f(j)=freq;
s=i*2*pi*freq;
ks=0.5*RS*sqrt(C(k)/L(k));
wO0=1/sqgrt(L(k)*C(k));
H=w0/2/(s"2+2*ks*w0*s+w0"2);
absH(j)=20*log10(abs(H));
angH(j)=angle(H)/pi*180;
if >1

taog(j)=-(angH(j)-angH(j-1))/(f(j)-f(j-1))/360;

end

end

taog(1)=taog(2);

end

FEM BT RS KRG HHERFHET LIER 20205 K71

figure(3)
hold on
plot(f,absH) %Il A

figure(4)
hold on
plot(f,angH) %A A

figure(5)

hold on

plot(ftaog)  %HELERS 451
2

H(s) = 0

s+ 2éwgs + w}
_ Rs |C Wa = —1
$=5 T °JIC
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SH@)::——+~——cosa%t—~———cos3a%t4————cos5a%t—a"
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Voue (0o)| = |HGwo)VinGwo)| = 1 X ag = EVCC B

Co . co 1 ag .
Vour (j3wo)| = |H(Bwo)Vin(j3wo)| = X3 =REE TR

(e

8 2
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R, 50

LR 1 620021.84ﬂH
o, O 27x10x10° /3
11 1 1

C

— = =184 pF
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C=184pF

R, =500

EF: <+ Vs L
— 1.84uH

10MHz# = _F SEEL50QF1200Q 8 Hi 2 7] # UL AL

I T 1 0] 1 11
1 R.+—— 1+ R, + +
ABCD = ST jec || L, .1 ( > jwC \R, jaoL
0 1 LR, JjoL ]
2
H(S):z &ﬁzz &izz RS 1 ) RS SLCRL
R, V, R, 4 R, ( 1 j( 11 j R, s’LC(R, +R)+s(L+CR,R,)+R,
1+| Rg + +
sCA\R, sL
:2 RS RL S2 :21,RSRL S2
R, R, +R; R, +R, s> +2(w s+ 0’

L Ry ||RLJ+(R R,

ST +S !
((RL+RS)C L ,+R)LC 42



RS=50;

RL=200; wYSIE s
fr=10E6;

wr=2*pi*fr;

Q=sqrt(RL/RS-1); NN
L=RL/wr/Q; IT_EEB WQ%&VI‘

C=1/wr/RS/Q;

fregstart=fr/100;;

freqstop=fr*100; %g}}ﬁﬁ‘f@ l%]
freqnum=100;
freqstep=10~(log10(freqstop/fregstart)/freqgnum);

freq=freqstart/freqstep;
for k=1:freqnum
freq=freq™freqgstep;

f(k)=freq;
w=2*pi*freq;

s=i*w;

ABCD=[1 RS+1/s/C; 0 1]*[1 0; 1/RL+1/s/L 1];

ABCDFERETHH
H=2*sqrt(RS/RL)/ABCD(l,l); N RIS
fE 1 R B A
absH(k)=abs(H); I A P
leH(k)= le(H)/pi*180;
v M
figure(1) figure(2)
plot(f,absH) plot(f,angleH)
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clear all

f0=2E6;
BW=200E3;
Q=f0/BW;
RS=4E3;

RL=1E3;
pp=Q/(0.5*RS);
L=1/(2*pi*f0*pp);
C=2*ppN2*L;

freqstart=f0/100;

freqstop=f0*100;

freqnum=1000;
freqstep=10~(log10(freqstop/freqgstart)/freqnum);

freq=freqstart/freqstep;
for k=1:freqnum
freq=freq*freqstep;
f(k)=freq;
w=2*pi*freq;
s=i*w;

abcd=[1 RS;0 1]*[1 0;1/(s*L) 1]*[1 1/(s*C);0 1]*[1
0; s*C+1/(RL) 1];

H=2*sqrt(RS/RL)/abcd(1,1);

figure(1)
absH(k)=abs(H); plot(f,absH)
angleH(k)=angle(H)/pi*180; _
end figure(2)

plot(f,angleH)
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